TS LT A BB 106 BECABRE
BAPBEARE - RERETEIRNEN
£ — o

MEREUT 10T FRSEFF(FERERKREREANEREWNERN )

. AdmakH 1 2 6 SRR T - HE— TRV e "+ K=" - R THY "+
Ui AR EE B o RAE 1Y ™" U > AREEAR AT AT DUE Y — ZE B 4B R - 351 AT RERVEH &
HASEZ/OME?

2. #%(a,b) Ft-f-Fir E—EE(Ela>0) HEBIEL x+y=0,x-y =0 kK x+2y = 2 {ypEHELL
Fyl:2: 1K alyFrA mIREE -

3. B ALY - B(2,a,b) BZefE b RiEs » BHEEERCC B MR - H
E, : (L 0)x+ (L—20)y + (L—C)Z = O (i M2 5 A 72 B, 45488 A B, (g 1 i (9 C i
) ;K(a!b) °

4. 48 > B L || L, - AABC B1ADEF 25 0

y (O
Tl
-
=

HEEREZM = - (RFF D, B, F =B L

’ : / o
- mAEC =BHEEL L EA £ ¥ % Ly
ZA=60", ZC =45 ,AC =1 KW= BB
TR AE - 25 2 1”
s Fim cosA -sinAlfcosB -sinB| [cos(A+B) -sin(A+B)| _. | 3 3
' sinA cosA ||sinB cosB | |sin(A+B) cos(A+B) 2 23
3 3

6. EiFE#a,b,cifida-b+3=0Ha*+2b=c’ - 3k (a,b,c).

an_ n

>N

7. E%Da,ﬁ%XZ+ZCOS§X+1=OZﬁIﬂE"H‘E
8. Ebﬁﬂ(|0g23 |Og3 4)IogX2 :2 ’ ﬁzx o
9. Em=ZEX f(x)mE f(0)=fQ)="1(2)=4H f(3)=16,5k f ().

10. Zmn HEABHEN>1 - BIm" L FIT8 > KN 1000 HFETTHCZ (8% -



BT ABYSR 106 BEEASER
BABEABE _RRISTEERRER

Pa Ca P

B — &

ERFHE:UTHEPHFRABMEET TR EI BEP HHEAINT

-G

N

b

by

. 51,2,3-+, 10 % 10 5 SRBEEHE R —(EH5 - KB BT IER 5
1,35,7,9 BB HESIIER £10,8,6,4,2" (i,

L BT (X), 900, h(x) B GBS TE - BREIEGEE 1, F(X), (%), h(x) FTZREST R 5
8,7.4. TUAT T (x) BRLL g(x) FIEREE 26 ~5x2 +5x+4, g(x) BRELh(X) HIAR s(x)
9B DT 3, B f(x) 12 h(x) $hk - SR s(x).

. H—IR= A4 R TR AABC) » HH1BC 5 10 4

2 D{E AB i E{E AC |- » H.DE||BC - Y54%K

J155E DE $HT (WG BFTT) » 215 AFBDECG )
/\ / /\
2 B F ¢ €
YRS B RAEH R S » K DE 2 &.
AJ'

BT RN > 2, ""‘]‘Iz(ﬂdﬁ WRT <

0g, N

. & ABC RE =% DRENE—8 A

DA=DB=a,DC=b, H Z/ADB =6, /ADC = /BDC.

KILEIREE (DL a,b,0 FortiR).




	106第一試試題
	106第二試試題

